3 FERAXKZHSF

(1) FEAXKEHRBRERNR SHFEIAINBRAE

FER| | FR20EE FR2EE

= 45% 76. 7%

(2) HETAEERRKERFHRERTR £EEI3BINBEERAE

=H T IR MERF | RiE b | FHE £ 48 BT

TR0 35% 35% 49% 57% 37% 50% 51% 55% 59%

TR21EE 70% 13% 75% 79% 82% 74% 12% 80% 86%

SEBMEE AKX ERBREE

90%¢”
80%¢”
70%¢

60%
50%
40%
30%
20%
10%

“"“im @@ Ik WEE e LtE BE LB =T

OFR205FE B FR2IFE

X REAE
1 BFF - UFE2EXRKFHESHARPICHASEOETZHEE R 0w AH 7 K
g%ﬁt;u%ﬁ%ﬁ%%ﬁbs$kﬁ$%%ﬂ®%ﬁ%ﬁtﬁébfuéﬁ%@ﬁ
st Lo
2 GFERAXRKZHRBHRER. BEEZPHFIEFICLHEE,

_26_




